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OgYbt4=24| 5,000,000& 5,000
401 AlEHIZL £ 0HY| 10,000 0 10,000
01 Al&H| 10,000 0 10,000
OM AIEE S22 10,000,000& 10,000
HESHAY| (XD D)(IIEH/DIE 54,680 54,680 0
24| 54,680 54,680 0
=234l 54,680 54,680 0]
201 gEt24Hy| 8,000 8,000 0
01 AP 22| d| 8,000 8,000 0
OgLBt=2H| 5,000,000& 5,000
O3l 3,000,000& 3,000




PN B=gn )}
D HESIAH| (XIS N ) (JIEHDIE
Jl2&tl

SA - ZE-B(EA) - NRAY - B S il &t o il
202 Od4dl 43,680 43,680
01 = LHA YI 43,680 43,680
O=UWEZ I 280,000& *13H » 43,680
203 YR =&l 3,000 3,000
04 FN2ELSZTH| 3,000 3,000
ORAN2EIRFAHI 250,000 128 3,000




